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|y = },’:. y=b },’:.
Yly=ax y":ﬂ y=1x yz:'nr
rly=ax+b ¥y =a y=Yx+ y =
t|y=au y =au y=T(x+¥) y=v)=r¢
o|y=a" ¥o=nx" Y= W=y
1| ¥ = ax™ ¥ =anx™" y=1x" ¥y =x(r)x")=#x"
¥ | yp=u" ¥y =nuu’ y={vx") y =¥(ex")(vx" ) = rarx"
Al y =au® y = anuu™" y = o{rx +1) y = a()(M0x+ ) =r(rx+1)
1ly=u+v y=u+v y=obx +%x y =vx+r
Vo |¥y=utv+h+ |y =wtv+h 4+ y=ox"+Tx+F¢ |y =vx+v
Wly=u.v ¥ =u.v+iu.uv y=0"+00x"+vx) |y =) +r)+ (s +¥)(x"+1) =
vx’ e’ v
VY _u M u r—uv’ __x o T@r=n-as(rx) _ =r
v } [_J' y AX—A\ } T {_\‘};—'.]"' rl}:‘—":l"’
'y =u(v(x)) y = v (x). u'(v(x)) y=(r+rx")" ¥ = (ex) () + vx")" = vex (r 4 vx")
AEEI - y =Tl PRI )
Y [u] L \#x|
o |y =+x L =\x U
¥y Al ¥ WX Y b Y WX
Mly=vu s I8 B P A
¥ YV ¥ W Y v :vx"’_l_t I’.?X'_‘_\
| Al
1\" y = ]}\"E }r’ —] —H y — ':.,"IIICTxr + ﬁj'r }r{ — yix — LN
n Jur=" FVYXT4L J(rx"+0)
1A ¥= ]{-"Hm ¥ mu’ y = :'If[".r + 'r)* ¥ r(7)
— s Y = 5
. n ut—m Y oy (rx+mF
|y =a* y =a*lna y=r* y =r*Inr
ro|ly=a" y =ua'lna y =y y =o(v**YInv
T = g* y =¥ y=ge* y =e*
Yr|y=e" yo=1e" y =" ¥ B N
rr |y =log, x haag y = log, x - AR,
g Y xlna Y xIna
e |y =1log,u y = u y =log,("x" + ) y = - L
ulna (Yx +Y)Ina
Yo = In|x| gl = In|x| I
}" y = P }’ ¥ e
M| y= Inu }?, = E y= In 1.“.-'; : \'_L'E
U y = 1"—_J_ e
yX X
ry | vy = sin(ax) y" = a cos(ax) y = sin(ix) y = 4 cos(ix)
rA | ¥y = sin(u) v = u’ cos(u) y = sin((rx +1)") |y = #(rx + 1) cos(rx + 1)
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i |y =sin"u y’ = nu’ cos(u) sin(u)"™ |y =sin®rx y = s(v) cosvx sin’ vx
r. |y = cos(ax) y* = —asin(ax) y = cosix y = —sinx
¥ | ¥ = cos(u) y = —u"sin(u) y = cos(x" —r) y = —Txsin(x" —r)
¥ | y =cos™u y" = —nusin(u) (cos(u))*™' ¥ = COS AX y" = —rsin sx(cos sx)"
rv | ¥ = tan(ax) y =a() + tan' ax) y = tan Tx y = "(‘ + tan’ ‘x)
ri | y = tan(u) y =u'(y + tan" u) y = tan(rx + ¥) y =r() +tan’(rx +¥))
re |y =tan"u ¥y =nu'() + tan” w) (tanu)™™" y = tan" x y = ?(\*)(\ 4+ tan’ \'I) (tan Yx)'
™ | ¥ = cot(ax) y = —a(y + cot' ax) y = cotbx y = —=a( + cot' ax)
vy | y = cot{u) y = —u'() + cot" u) y = cot(x" —1) y =="x"(1+ cot'(x" —1))
rA y = CDth }-" — —n_u'l:" + cot’ lijffﬂlujﬂ_' y = CDtF(ij }"r = _"Tx(" + E'Dtr(xr)} CDt;['}:T-}
¥y | y = sec(u) y =u'secutanu y=sec("x"+") |¥ =sx"sec("x" +)tan(*x" +)
¢+ | y = csc(u) y = —u'cscutanu y = cscfx") y" = Yxcsc(x") tan(x")
£ | y = arcsin(u) y = u y = arcsin(x" = Y) u rx'
!\_ T = :\ L ¥ T
S i ]
¢v | y = arccos(u) Y —u’ y = —arccos(x") y = e
Iy ¥ A I'_x‘
S
¢v | y = arctan(u) y = u’ y = arctan(sinx) |y = 2%
vy Y+sin x
¢t | ¥y = arccot(u) Y y = arc cot(e*) W e
Y vu' Y \+e'x
to | y = arcsec(u) y = u’ y = arc sece* y = e*
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|uly ' —u e e
1 |y=arcescw) |, —u y = arccscx’ o —Tx
[ Y| [y F
|1I|.\‘;\—H' |.'k' I X
¢v | ¥ = sinh(x) y = u’cosh(u) y =sinh(ex" + ¥x) |y = (v+x + ) cosh(ex’ + Tx)
¢A| ¥ = cosh(x) y = u sinh(u) ¥y = cos h(éx) y = asinh(sx)
¢4 | y =tanh(x) y =u'sech’ (u) y =tanh(cos ix) |y = (—%sinix)sech’ (cos %x)
o- | ¥ = coth(x) y =u’csch’ (u) y = coth(x") ¥ =Yxcsch' (x')
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